AIIWII> MR—X 2 BUiREREEE
Double Mount Base 2 Instruction Manual

R&GBLUE

Bt A%
How to Use the Double Mount Base 2

RGB-DMB2

(1) SYSTEM01/02 (+Float Jacket S/L)x 2

by % é 4
RGBlue — (A M5x8 EZERIL I / Fixing bolt (M5x8)

o M6x12 BETERIL I / Fixing bolt (M6x12)
IN NA[
© M2x3 EERIL b / Fixing bolt (M2x3)

(2) SYSTEMO1/02(+Float Jacket S/L)+
OLYMPUS UFL-3
ORGB-CTYSB1
)T M RSARYR YSAR—X (BI5E)
Compact tripod YS base (Optional) +
@®RGB-YSEX1
YSTOXRFT> 3> (BI5E)

SEA&SEA-D) M4x7 EIFEMIL I / Fixing bolt (M4x7)

=GR
©s Tripod screw hole

YS Extension (Optional)

YS PATI—tzy ~
YS Adapter Set

DAY o2 1—THTHI—

(4) SYSTEMO1/02(+Float Jacket S/L)+
SEA&SEA YS-D3, D2, D1

(YSAN-01)
Quick Shoe Adapter
R=IL7HTH— (QRS-RGB1)
Ball Adapter
(RGB-BA01)
Rtk

Product Specifications

P4 B738mm. E112mm. &E14mm

Size : D 38mm, W112mm, H14mm

58 1 B2k 75g / K 65g (BEEMIL MED)

Weight : Land 75g / Underwater 65g (Including Fixing Bolts )

FRME TR

Materials : Stainless steel

HBR ETERIL N M5x8(4K). M6x12(17)

Provided accessories : Fixing Bolt M5x8 (4pcs) , M6x12 (1pcs) , M2x3 (1pcs) , M4x7 (2pcs)

M2x3(14). M4x7 (27)

M2x3 (1pcs) , M4x7 (2pcs)

PIGEE : RGBIue : SYSTEMO1, 01-2, 02, 02-2, 02-2PC, 01-SB,02-SB

Compatible Models : RGBIlue : SYSTEMO01, 01-2, 02, 02-2, 02-2PC, 01-SB,02-SB(+Float Jacket S/L),

(+70— hSv4w k S/L), YS 74T 45— (YSAN-01),

YS Adapter Set(YSAN-01),Ball Adapter (RGB-BAO1),

R—=)LT7H T 45— (RGB-BAOL), U+ v 1—745 745 —(QRS-RGB1)

Quick Shoe Adapter (QRS-RGB1)

OLYMPUS : UFL-3 / INON: Z330, Z240, D2000, S2000

OLYMPUS : UFL-3 / INON: Z330, Z240, D2000, S2000

SEARSEA : YS-D3,YS-D2, YS-D1

SEARSEA : YS-D3,YS-D2, YS-D1

REE :BX

Made in JAPAN

BRI TER<EETDHANHDET. 20201133

Specifications may be subject to change without notice. Data as of November 2020

BMRARMI—F—741 - Jv/\> Tel:045-441-0127 T221-0056 5| |EHOETHEER) | IXEBE] 2-1 /N—0 2T —#&K— b+ F2F

AOI Japan Co., Ltd. Tel.: +81 45 441 0127 2F, Parktower Yokohama Portside, 2-1 Kinko-cho, Kanagawa-ku, Yokohama, Kanagawa, Japan 221-0056

SL115P001-00



